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1,500,0009 * 14! 1,500 0 1,500
ONSA HIX AN2PSE 1,128,008 * 14 1,128 0 1,128
O0F2 2 HLILX S AL 7,610 0 7,610
OJZ2ARE S| 3,000,00021 * 14! 3,000 0 3,000
O#ZARIII A28 Y|
6,000,0002! * 14! 6,000 0 6,000
OYeE =AEXN 7 3,000,008 * 14 3,000 0 3,000
O=AIl YxtE 1,720,0008 * 14! 1,720 0 1,720
OJIEt%EH 1,000,0008 * 14 1,000 0 1,000
02 22| 1,600 0 1,600
o= ol 1,600,0008 * 14! 1,600 0 1,600
202 01t 83,160 76,560 6,600
01 208l 83,160 76,560 6,600
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220,0008 * 2% * 128 + 220,0008 * 1Y = 6,600 0 6,600
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ORNSIYRETY| 1,460,0009 * 14! 1,460 0 1,460
204 =@ 23 AH| 1,200 600 600
01 HAZARLHHY| 1,200 600 600
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